Review for Retake: Solving Systems: Substitution

Assessment ID:  dna.13367 ib.331754

Directions: Answer the following question(s).

Solve each system of equations.

y=-8
y=—-2x—-12

*Write the answer as a coordinate point.

Remember the parenthesis. ex: (4,3)

Solve the system of equations.

y=x+6

yv=2X

Write the answer as a coordinate point.
Remember the parenthesis. Ex. (4,3)

Solve the system of equations.

X=-5y+40
5x + 3y =46

Write the answer as a coordinate point.
Remember the parenthesis. EXx. (4,3)

@ Solve the system of equations.

y=8x
—Sx—35y=0

Write the answer as a coordinate point.
Remember the parenthesis. EXx. (4,3)
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Solve the system of equations.
y=5
X=-6
I |

Write the answer as a coordinate point.
Remember the parenthesis. Ex. (4,3)

A system of two linear equations is shown

below.
y=5x+8
y =-2x —-20

Enter the y—coordinate of the solution to this
system of equations.

y coordinate =| |

Solve the system of equations.

y=bx—11
—2x—3y=-7

Write the answer as a coordinate point.
Remember the parenthesis. Ex. (4,3)

E Solve the system of equations.

y=2x—-15
y=3x

Write the answer as a coordinate point.
Remember the parenthesis. Ex. (4,3)
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Directions: Answer the following question(s).

@ Solve the system of equations.

X=-4y + 34
Xx=-1y+ 10

Write the answer as a coordinate point.
Remember the parenthesis. Ex. (4,3)

10| Solve the system of equations.

y=-2
4x—3y=18

Write the answer as a coordinate point.
Remember the parenthesis. Ex. (4,3)

11| Solve the system of equations.

3x+2y=17
y=-3x+11

Write the answer as a coordinate point.
Remember the parenthesis. Ex. (4,3)
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